No. of Printed Pages : 3 2 lHAAZSZL/P

AUATEUARIRT AW TR0 Sl Ne.

M.A. II Semester Degree Examination, Sept./Oct. - 2024

HISTORY AND ARCHAEOLOGY
SEC - 2 : Computer Application in History and Archaeology
(NEP)

Time : 1 Hour Maximum Marks : 30

Note : (i) Answer all the questions.

(ii) Each question carries equal marks.

1. File extension of Power Point is .
(A)  xls (B) .txt (C) .ppt (D) None

2. Computer works based on system.
(A) Binary (B) Octa (C) Hexa (D) None

3. Father of Computer is .
(A) Charles Darwin (B) Charles Babbage
(C) Charles Mackenzie (D) None

4. Wikimedia is an example for .
(A) Offline Source (B) Online Source

(C) Both (A) and (B) (D) None
5. Digital library is also considered as .
(A) Offline library (B) Virtual library
(C) Online library (D) Both (B) and (C)
6. PDF stands for Portable Format.
(A) Document (B) Drive (C) Disk (D) None

7. 1024 TB is equal to .
(A) 1GB (B) 1ZB (C) 1TB (D) None

8. Ctrl+V is used to .
(A) Copy (B) Paste (C) Cut (D) None

9. Ctrl+X is used to .
(A)  Copy (B) Re Do (C) Paste (D) None
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10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

Ctrl+Z is used to
(A) Re Do (B)

LED stands for Light
(A) Emitting (B)

File extension for MS Word is

(A) .txt (B)

1024 KB is equal to
(A) 1MB (B)

URL stands for
(A) User (B)

Ctrl+E is used to
(A) Centre (B)

Ctrl+U is used to
(A) Underline (B)

Ctrl+O is used to
(A) Close (B)

Ctrl+B is used to
(A) Bright (B)

Pen Drive of

(A) 2 (B)

LCD stands for
(A) Laser (B)

1024 Bytes is equal to
(A) 1MB (B)

ZB stands for
(A) Zite (B)

UPS stands for
(A) Undo
(C) Unlimited

2
Un Do (C)
Diode.
Enable (C)
wrd (C)
1 GB (C)

Resource locator.

Unlimited (C)
alignment.
Right (&)}
alignment.

Bold (®);
a file.

Open (C)
a text.

Bold (&)}

GB is unavailable.

4 (C)

Crystal Display.

Liquid (&)}
1 KB (C)
Byte.

Zetta (C)

Power Supply.

(B) Uninterruptable
(D) None

Copy

Enact

.€Xe

1TB

Universal

Left

Re do

See

Delete

Large

1 GB

Zonal

(D)

(D)

None

None

None

None

None

None

None

None

None

None

All

None
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24. 1 Peta Byte is equal to .
(A) 1024 Tera (B) 1024 Zetta

(C) 1024 Giga (D) None of the above
25. Scanner is a device.

(A) Input (B) Output (C) Storage (D) None
26. Joystick is a device.

(A)  Input (B) Output

(C) Both (A) and (B) (D) None

27. HD stands for High .
(A) Device (B) Disk (C) Definition (D) None

28. LAN stands for Area Network.
(A) Local (B) Light (C) Laser (D) None

29. Internet is an example for .
(A) LAN (B) WAN
(C) Both (A) and (B) (D) None

30. Monitor is an example for .
(A) Output (B) Input
(C) Both (A) and (B) (D) None
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